

DEPARTMENT OF SCIENCE AND TECHNOLOGY ADVANCED SCIENCE AND TECHNOLOGY INSTITUTE



30 June 2025

ASTI – BIDS AND AWARDS COMMITTEE BAC Resolution No. 25-06-115

DECLARATION OF 3-TECH INNOVATION MASTER CORPORATION AND IDENICO COMPUTER CORP. AS THE BIDDERS WITH SINGLE AND LOWEST CALCULATED RESPONSIVE BID AND RECOMMENDING THE AWARD OF CONTRACT FOR THE SUPPLY AND DELIVERY OF VARIOUS WORKSTATIONS FOR DOST-ASTI

Purchase Request No. : PROPEL-25-04-21033 (RDD) | GAA-25-04-20987 (OD) | GAA-

25-04-21046 (KMD) | FASTRACRoa-25-04-21054 (RDD)

Date of Purchase Request : 11 April 2025 | 16 April 2025 | 24 April 2025 | 28 April 2025

Invitation to Bid No. : 25-05-028-B

Solicitation No. : 25-05-028-B

PhilGEPS Reference No. : 12079732

Approved Budget for the Contract : ₱2,139,198.00

WHEREAS, the Republic Act (RA) No. 9184, otherwise known as the "Government Procurement Reform Act", provides that all procurement of the national government, its departments, bureaus, offices, and agencies, including state universities and colleges, government-owned and/or controlled corporations, government financial institutions and local government units, shall, in all cases be conducted in accordance therewith and its 2016 revised Implementing Rules and Regulations (IRR);

WHEREAS, the DOST-ASTI Bids and Awards Committee (BAC) of the Department of Science and Technology (DOST) - Advanced Science and Technology Institute (ASTI) received the following Purchase Requests (PRs), together with market studies:

- 1. PR No. PROPEL-25-04-21033 (RDD) dated 11 April 2025;
- 2. PR No. GAA-25-04-20987 (OD) dated 16 April 2025;
- 3. PR No. GAA-25-04-21046 (KMD) dated 24 April 2025; and
- 4. PR No. FASTRACRoa-25-04-21054 (RDD) dated 28 April 2025.

WHEREAS, items in the above PRs were included in the Fiscal Year 2025 Supplemental Annual Procurement Plan – Common-Use of Supplies and Equipment Nos. 7 and 8 of the DOST-ASTI;

WHEREAS, the said PRs were consolidated into one (1) procurement opportunity, to be awarded per lot, with a procurement project titled "Supply and Delivery of Various Workstations for DOST-ASTI", with a total Approved Budget for the Contract (ABC) amounting to Two Million One Hundred Thirty-Nine Thousand One Hundred Ninety-Eight Pesos Only (₱2,139,198.00), broken down as follows:

Lot No.	Item Description	Quantity	Unit	Unit Cost	Total Amount / ABC
1	Procurement of Laptops for HR Lite Phase 3: Adoption and Sustainability for HR Lite and Various DOST-ASTI GAA Projects	4	Unit	₱47,299.50	₱189,198.00
2	Procurement of Three (3) Units of Laptops for Knowledge Data Bank	3	Unit	₱100,000.00	₱300,000.00
3	Procurement of Seven (7) Units of Laptops for Al Training and System Administration	7	Unit	₱100,000.00	₱700,000.00
4	Procurement of One (1) Unit Laptop for Administrative	1	Unit	₱80,000.00	₱80,000.00
5	Mobile Workstation	5	Unit	₱120,000.00	₱600,000.00
6	Workstation Laptop	1	Unit	₱99,000.00	₱99,000.00
7	Workstation Laptop	2	Unit	₱85,500.00	₱171,000.00
	₱2,139,198.00				

WHEREAS, on **14 May 2025, 09:00 AM**, a Pre-procurement Conference was held online via Microsoft Teams Application with the DOST-ATI BAC, Secretariat, and end-user representatives in attendance, to determine the readiness of the procurement project;

Postal Address: DOST-ASTI Bldg., UP Technology Park Complex

C.P. Garcia Ave., Diliman, Quezon City 1101

Website : www.asti.dost.gov.ph

Tel. Nos. : +63 2 8249 8500 +63 2 8426 9755

Email : info@asti.dost.gov.ph

ASTI – FM 03-13 REV 4 / 10 June 2025 **WHEREAS**, on **29 May 2025**, the Invitation to Bid and the Philippine Bidding Documents (PBD) for subject procurement were published on the websites of the Philippine Government Electronic Procurement System and DOST-ASTI, as well as in the latter's conspicuous place reserved for the purpose, consistent with Section 21, Rule VII of the 2016 revised IRR of RA No. 9184;

WHEREAS, on **05 June 2025**, **09:00 AM**, a Pre-bidding Conference for said procurement was conducted by the DOST-ASTI BAC through videoconferencing via MS Teams, which was opened to prospective bidders, in compliance with Section 22.1, Rule VII of the 2016 revised IRR of RA No. 9184;

WHEREAS, only three (3) prospective bidders purchased and submitted PBDs prior to the deadline of submission on 17 June 2025, 09:00 AM, particularly (1) 3-Tech Innovation Master Corporation; (2) DCI Int'l Solutions & Services Corp.; and (3) Idenico Computer Corp.;

WHEREAS, said suppliers submitted bids for the following lots:

1. 3-Tech Innovation Master Corporation

Lot No.	Item Description	Quantity	Unit	Unit Cost	Total Amount / ABC			
1	Procurement of Laptops for HR Lite Phase 3: Adoption and Sustainability for HR Lite and Various DOST-ASTI GAA Projects	4	Unit	₱47,299.50	₱189,198.00			
2	Procurement of Three (3) Units of Laptops for Knowledge Data Bank	3	Unit	₱100,000.00	₱300,000.00			
3	Procurement of Seven (7) Units of Laptops for Al Training and System Administration	7	Unit	₱100,000.00	₱700,000.00			
5	Mobile Workstation	5	Unit	₱120,000.00	₱600,000.00			
6	Workstation Laptop	1	Unit	₱99,000.00	₱99,000.00			
7	Workstation Laptop	2	Unit	₱85,500.00	₱171,000.00			
	GRAND TOTAL							

2. DCI Int'l Solutions & Services Corp.

Lot No.	Item Description	Quantity	Unit	Unit Cost	Total Amount / ABC			
1	Procurement of Laptops for HR Lite Phase 3 : Adoption and Sustainability for HR Lite and Various DOST-ASTI GAA Projects	4	Unit	₱47,299.50	₱189,198.00			
2	Procurement of Three (3) Units of Laptops for Knowledge Data Bank	3	Unit	₱100,000.00	₱300,000.00			
3	Procurement of Seven (7) Units of Laptops for Al Training and System Administration	7	Unit	₱100,000.00	₱700,000.00			
5	Mobile Workstation	5	Unit	₱120,000.00	₱600,000.00			
6	Workstation Laptop	1	Unit	₱99,000.00	₱99,000.00			
7	Workstation Laptop	2	Unit	₱85,500.00	₱171,000.00			
	GRAND TOTAL							

3. Idenico Computer Corp.

Lot No.	Item Description	Quantity	Unit	Unit Cost	Total Amount / ABC
3	Procurement of Seven (7) Units of Laptops for Al Training and System Administration	7	Unit	₱100,000.00	₱700,000.00
5	Mobile Workstation	5	Unit	₱120,000.00	P 600,000.00
	₱1.300.000.00				

WHEREAS, on 17 June 2025, 09:30 AM, during the scheduled Opening of Bids, the DOST-ASTI BAC opened the bids of (1) 3-Tech Innovation Master Corporation, (2) DCI Int'l Solutions & Services Corp. and (3) Idenico Computer Corp. in public and in the presence of the bidders' representatives. Said Opening of Bids was conducted by the DOST-ASTI BAC through a blended meeting arrangement;

WHEREAS, to determine the compliance of the bidders with the eligibility, technical, and financial requirements specified in the DOST-ASTI PBD, the DOST-ASTI BAC examined the submitted documents of (1) 3-Tech Innovation Master Corporation, (2) DCI Int'l Solutions & Services Corp. and (3) Idenico Computer Corp. versus a checklist of requirements. The DOST-ASTI BAC used the non-discretionary "pass or fail" criterion;

WHEREAS, during the evaluation of the technical component of the bids, the DOST-ASTI BAC observed that **DCI Int'l Solutions & Services Corp.** reflected other remarks aside from the word "COMPLY" in Section VII. Technical Specifications. The DOST-ASTI BAC discussed the matter and majority of the members voted to disqualify said prospective bidder;

WHEREAS, the DOST-ASTI BAC proceeded to check the documents submitted by 3-Tech Innovation Master Corporation and Idenico Computer Corp. Based on the evaluation of the DOST-ASTI BAC, both prospective bidders were able to submit the required legal, technical, and financial documents/requirements, thereby rating the technical components of their bids as "passed";

WHEREAS, the DOST-ASTI BAC opened the financial component of the bids of **3-Tech Innovation Master Corporation** and **Idenico Computer Corp.** The bid amounts submitted by the bidders are as follows:

Lot Item Description		Qty.	Unit	А	вс	3-Tech Innova Corpor		Idenico Com	outer Corp.
No.		٦٠,	-	Unit Amount	Total Amount	Unit Amount	Total Amount	Unit Amount	Total Amount
1	Procurement of Laptops for HR Lite Phase 3: Adoption and Sustainability for HR Lite and Various DOST-ASTI GAA Projects	4	Unit	₱47,299.50	₽ 189,198.00	₱37,000.00	₱148,000.00	No Bid	No Bid
2	Procurement of Three (3) Units of Laptops for Knowledge Data Bank	3	Unit	₱100,000.00	₱300,000.00	₱99,540.00	₱298,620.00	No Bid	No Bid
3	Procurement of Seven (7) Units of Laptops for Al Training and System Administration	7	Unit	₱100,000.00	₱700,000.00	₱88,400.00	₱618,800.00	₱94,445.00	₱661,115.00
4	Procurement of One (1) Unit Laptop for Administrative	1	Unit	₱80,000.00	₱80,000.00	No Bid	No Bid	No Bid	No Bid
5	Mobile Workstation	5	Unit	₱120,000.00	₱600,000.00	₱115,000.00	₱575,000.00	₱99,163.00	₱495,815.00
6	Workstation Laptop	1	Unit	₱99,000.00	₱99,000.00	₱87,500.00	₱87,500.00	No Bid	No Bid
7	Workstation Laptop	2	Unit	₱85,500.00	₱171,000.00	₱74,000.00	₱148,000.00	No Bid	No Bid
	TOTAL BID AMOUNTS					₱1,875,920.00		₱1,156,930.00	

WHEREAS, the DOST-ASTI BAC conducted a detailed evaluation of the financial component of the bids of **3-Tech Innovation Master Corporation** and **Idenico Computer Corp**. to establish the correct calculated prices of the bids:

Lot No.	Item Description	Name of Bidder	Bid Price as Calculated	Ranking
1	Procurement of Laptops for HR Lite Phase 3: Adoption and Sustainability for HR Lite and Various DOST-ASTI GAA Projects	3-Tech Innovation Master Corporation	₱148,000.00	Single Calculated Bid (SCB)
2	Procurement of Three (3) Units of Laptops for Knowledge Data Bank	3-Tech Innovation Master Corporation	₱298,620.00	SCB
3	Procurement of Seven (7) Units of Laptops for Al Training and System Administration	3-Tech Innovation Master Corporation	₱618,800.00	Lowest Calculated Bid (LCB)
		Idenico Computer Corp.	₱661,115.00	2 nd LCB
		Idenico Computer Corp.	₱495,815.00	LCB
5	Mobile Workstation	3-Tech Innovation Master Corporation	₱575,000.00	2 nd LCB
6	Workstation Laptop	3-Tech Innovation Master Corporation	₱87,500.00	SCB
7	Workstation Laptop	3-Tech Innovation Master Corporation	₱148,000.00	SCB

WHEREAS, the DOST-ASTI BAC declared 3-Tech Innovation Master Corporation and Idenico Computer Corp. as the bidders with Single and /or Lowest Calculated Bid, through BAC Resolution No. 25-06-097 dated 17 June 2025. Likewise, in the same resolution, the DOST-ASTI BAC Secretariat was instructed by the DOST-ASTI BAC to assist them in conducting post-qualification of said bidders;

WHEREAS, after verification, validation, and ascertainment of all statements made and documents submitted by **3-Tech Innovation Master Corporation** and **Idenico Computer Corp.**, the DOST-ASTI BAC determined that the submission of said bidders passed all the criteria for post-qualification, *viz*:

	Donas de Maria	Name of	Bid Amounts/Prices	D!4	
Lot No.	Description	Bidder	Unit Amount	Total Amount	Result
1	Procurement of Laptops for HR Lite Phase 3: Adoption and Sustainability for HR Lite and Various DOST-ASTI GAA Projects	3: Adoption and Sustainability and Various DOST-ASTI GAA 3-Tech Innovation Master		₱148,000.00	Single Calculated Responsive Bid (SCRB)
2	Procurement of Three (3) Units of Laptops for Knowledge Data Bank	·	₱99,540.00	₱298,620.00	SCRB
3	Procurement of Seven (7) Units of Laptops for Al Training and System Administration	3-Tech Innovation Master Corporation	₱88,400.00	₱618,800.00	Lowest Calculated Responsive Bid (LCRB)
5	Mobile Workstation	Idenico Computer Corp.	₱99,163.00	₱495,815.00	LCRB
6	Workstation Laptop	3-Tech Innovation Master	₱87,500.00	₱87,500.00	SCRB
7	Workstation Laptop	Corporation	₱74,000.00	₱148,000.00	SCRB

NOW, THEREFORE, for and in consideration of the foregoing, WE, the members of the DOST-ASTI BAC hereby RESOLVE to:

1. Declare 3-Tech Innovation Master Corporation for the procurement project titled, "Supply and Delivery of Four (4) Units of Procurement of Laptops for HR Lite Phase 3: Adoption and Sustainability for HR Lite and Various DOST-ASTI GAA Projects and Other Items", as the bidder with SCRB and LCRB, with a total bid price amounting to One Million Three Hundred Thousand Nine Hundred Twenty Pesos Only (₱1,300,920.00), broken down as follows:

L of No	Item Description	Qty.	11	Bid Amounts				
Lot No.			Unit	Unit Amount	Total Amount			
1	Procurement of Laptops for HR Lite Phase 3: Adoption and Sustainability for HR Lite and Various DOST-ASTI GAA Projects	4	Unit	₱37,000.00	₱148,000.00			
2	Procurement of Three (3) Units of Laptops for Knowledge Data Bank	3	Unit	₱99,540.00	₱298,620.00			
3	Procurement of Seven (7) Units of Laptops for Al Training and System Administration	7	Unit	₱88,400.00	₱618,800.00			
6	Workstation Laptop	1	Unit	₱87,500.00	₱87,500.00			
7	Workstation Laptop	2	Unit	₱74,000.00	₱148,000.00			
	TOTAL BID AMOUNT							

- 2. Declare Idenico Computer Corp. for the procurement project titled, "Supply and Delivery of Five (5) Units of Mobile Workstation", as the bidder with LCRB, with a total bid price amounting to Four Hundred Ninety-Five Thousand Eight Hundred Fifteen Pesos Only (₱495,815.00);
- 3. Recommend to the DOST-ASTI Director, as the Head of the Procuring Entity (HoPE), that the contracts be awarded to **3-Tech Innovation Master Corporation** and **Idenico Computer Corp.** in the above-mentioned amounts; and
- 4. Recommend the approval of the HoPE of the foregoing results.

RESOLVED in Quezon City, this 30th day of June 2025.

EDUARDO LORENZO P. BUÑAG End-user PAUL JOHN M. SERRANO End-user PETER ANTONIO B. BANZON End-User

MERYL REGINE L. ALGODON, Ph.D.

BAC Member

PHILIP A. MARTINEZ
BAC Member

RAMON VANN CLEFF B. RARO

BAC Member

JAYMAR L. JARINA BAC Member

BAYANI BENJAMIN R. LARA BAC Vice Chairperson

JEFFREY A. ABOROTBAC Chairperson

APPROVED/DISAPPROVED:

FRANZ A. DE LEON, Ph.D.
Director, DOST-ASTI

115 [SCRB & LCRB)-Supply and Delivery of Various Workstations for DOST-ASTI_kbr.ForSignature_clc-signed_PJS jlj rbr_bbrl_JAA

/bac-sec/sdda/kbr